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g 200 Mel+=¢
2 210 ZHEAA+Y
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E5 Al 10,870,490 15,545,334 AN4,674,844
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210 & HAN 2= 1,260,829 1,230,829 30,000
211 et +=¢ 2,000 2,000 0
211-02 SR MU= 2,000 2,000 0
< sHEBFAE A > 2,000 2,000 0
OZAAE SUHE 1,000,000& = 2AICH 2,000
212 g ==¢ 1,138,829 1,138,829 0
212-03 ot AtEZE 1,095,629 1,095,629 0
< =EHEIAEA > 1,095,629 1,005,629 0
OJEE 507,867
oo 1813 * 13,2708 = 17.5m = 128 504,392
o Xl ot = 1813 + 80& = 20m * 12& 3,475
ogers 380,295
oot 2343 * 2,333 x 51m « 12& 334,104
o Xl ot = 2343  47& x 350m x 12& 46,191
O=EE8 37,595
o Xl ot = 2623 * 14& » 750m x 12& 33,012
oot 2623 * 18& » 81m * 12& 4,583
OF-REIPNE == 150,000
OXdt=0l88g3 19,872
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< =EHEBIAEA > 2,539,000 7,725,000 N5,186,000
O33ot+ AT stMelAlE EXAY 633,000
Ot 7 ot=21 HHAEY 1,906,000
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00 2EH=LSHURNH 5,992,000 4,711,500 1,280,500

710 Ed+US 4,592,000 1,900,000 2,692,000

711 0= 1,528,000 1,900,000 A 372,000

711-01 =MAHLAH=2 1,528,000 1,900,000 A 372,000

< F=EHEIAEL > 1,528,000 1,900,000 A 372,000
Oz=MALAHS 1,528,000

712 8EE01E = 3,064,000 0 3,064,000

712-01 S NEXSAS TN 3,064,000 0 3,064,000

< sHEBFAE A > 3,064,000 0 3,064,000
OXEFE2N ITHHHNM 3,064,000

720 LHEH cH 1,400,000 2,811,500 A 1,411,500

721 8= 1,400,000 2,811,500 A 1,411,500

721-03 JIEI2I A& L = 1,400,000 2,811,500 A 1,411,500
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©39%A HE&E 10, 154,000 * 3All CH 30,462
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20184% 204 STHANEL L 22l =23
&: 200 AlQl4el
2 210 BAFAL LY
g 211 A0+l (2r9:88)
E.2-8-2 aro B ol by Bl =2t
ES Al 7,651,000 2,756,000 4,895,000
200 M2l 5,442,000 172,000 5,270,000
210 24 EMel = 5,442,000 172,000 5,270,000
211 THA O =2 5,000 5,000 0
211-02 SR MALHZ 5,000 5,000 0
< BHMEMY > 5,000 5,000 0
OBUETLNHANS L AGAT 5,000
214 A ==¢ 5,400,000 130,000 5,270,000
214-06 OH 2P AR =& 5,400,000 130,000 5,270,000
< BMEXMY > 5,400,000 130,000 5,270,000
OftH eI 2 5,400,000
216 Ol Xt==2 37,000 37,000 0
216-01 23030l K=& 37,000 37,000 0
< B MEHMY > 37,000 37,000 0
OZZU2 0IX 4 37,000
700 Ed=ASTUHEHN 2,209,000 2,509,000 A 300,000
710 Ed=23 2,209,000 2,209,000 0
711 403 2,209,000 2,209,000 0
711-01 =MAHLAHZ 2,209,000 2,209,000 0
<3 HMEHMY > 2,209,000 2,209,000 0
SEY BN 2,209,000
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216 Ol At ==& (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
= Al 650,257 791,759 A 141,502
200 M2l +=¢ 229,000 305,000 AT76,000
210 & HAN 2= 3,000 6,500 A 3,500
216 Ol Xt==¢ 3,000 6,500 23,500
216-01 33030l K== 3,000 6,500 A 3,500
<ALDSH > 3,000 6,500 A 3,500
OZ330=a ol =g 3,000
220 SAIH A2l == 226,000 298,500 AT2,500
222 RY= 90,000 145,000 A55,000
222-02 LRSS 90,000 145,000 A 55,000
<AEWSH > 90,000 145,000 A 55,000
O3EFxE A=&=Z 90,000
223 HESAMUEHES 91,000 111,000 A20,000
223-05 WEH = 91,000 111,000 A 20,000
<ALDSH > 91,000 111,000 /20,000
OFEXtelet UHE 91,000
225 X &= 45,000 42,500 2,500
225-01 At AE =gl 45,000 42,500 2,500
<ALDSH > 45,000 42,500 2,500
OXgtEE =g 45,000
700 EMAUSHUE AN 421,257 486,759 A 65,502
710 B8+ S 300,000 370,000 A70,000
711 A= 300,000 370,000 AT70,000
711-01 =MAHLAHS 300,000 370,000 A70,000
<ALDSH > 300,000 370,000 A70,000
Oz=MALAHS 300,000
720 LH S A ch 121,257 116,759 4,498
721 8= 121,257 116,759 4,498
721-03 JIEt2 A& L = 121,257 116,759 4,498
<ALDSH > 121,257 116,759 4,498
Ogetal A M3 (galEx) 100,587
Oeta|l A da3(UEs BAZ) 20,670
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700 EMUSHUEA N 454,670 430,378 24,292
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720 LHEH cH 150,000 150,000 0
721 8= 150,000 150,000 0
721-03 DBt A& L = 150,000 150,000 0
< EZAAFL > 150,000 150,000 0
OdtelA dg= 150,000
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SRR RO 0= Ofl &b oH A 0 A od Hns2
ES Al 32,529 31,797 732
200 M2l 449 454 Ab
210 24 EMel = 449 454 A5
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216-01 220 S0l Xt==¢ 449 454 ANG)
< EAMNAFD > 449 454 VaNS)
O3303 ol 449

700 Ed L SHUEAHN 32,080 31,343 737
710 2823 32,080 31,343 737
711 A= 32,080 31,343 737
711-01 =AIAHLAHS 32,080 31,343 737
< TAASH > 32,080 31,343 737

O=MNALAH= 32,080
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